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BACHELOR OF SCIENCE (B.Sc.) 

ni 1 7 7 Term-End Examination 

June, 2016 

PHYSICS 
PHE-11 : MODERN PHYSICS 

Time ; 2 hours 	 Maximum Marks : 50 

Note ; Attempt all questions. The marks for each question 
are indicated against it. Symbols have their usual 
meanings. You may use non-programmable 
calculators or log tables. The values of physical 
constants are given at the ends 

1. Answer any five parts : 	 5x4=20 

(a) Obtain the velocity of a 100 MeV kinetic 

energy electron of rest mass 0.5 — MeV. 
C 2  

(b) A ball of mass 92 g moves with a speed 
72 ms-1. Calculate the de Broglie 
wavelength associated with it. Would you be 
able to observe the ball's wave 
characteristics ? 

(c) The average lifetime of an excited atom is 
about le s. Calculate the uncertainty in 

,r( 
the energy emitted. 
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(d) Write the electronic configuration for atoms 

having (i) Z = 20 and (ii) Z = 31. 

(e) The wave function of a particle of mass 

m inside an infinite square well of width 

2 L (— L to L) is 

y(x) = A cos 3nx B 3nx  
2 L 	m  2 L 

Obtain expressions for A and B. 

(f) A rod of proper length 2 m measures only 

1 m in a reference frame that is moving with 

respect to the rod. What is the speed of the 

moving reference frame ? 

(g) Obtain an expression for the cyclotron 

frequency. 

2. Answer any one part : 

(a) Derive an expression for the relativistic force 

law. Show that in the absence of external 

forces, relativistic momentum is conserved. 	5 

(b) Show that the Lorentz transformation 

reduces to the Galilean transformation for 

y « c. 	 5 
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3. Answer any one part : 

(a) Discuss the statistical interpretation of wave 

function. Define Hermitian operator and 

show that its expectation value is real. 	4+6 

(b) If two non-commuting operators A and B 

commute with their commutator [A, B], show 

that [A, Bn] = n Br" [A, B], where n is an 
integer. Hence obtain the value of [ex, px]. 	10 

4. Answer any one part : 

(a) Write down the Schrodinger equation for a 

particle confined in a potential of the form : 

	

0, 	x < — a 

V(x) = Vo  	— a < x < a 

	

0, 	x > a 

Write down the boundary conditions and 

obtain the general solution in all three 

regions. 10 

(b) State Hund's rules. Using Hund's rules 

obtain the spectral terms and ground state 

of the He atom. 	 10 
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5. Answer any one part : 

(a) Define half-life period of a radioactive 

material. How long does it take for 60% of a 

sample 	of radon 	to 	decay 	? 

Half-life of radon is 3.8 days. 	 5 

(b) Define multiplication factor. Obtain an 

expression for the time behaviour of a 

neutron chain reaction. 	 5 

Physical Constants : 

h = 6.626 x 10-34  Js 

me  = 9.109 x lei kg 

mp  = 1.672 x 10-27  kg 

PHE-11 



	(4LT:r ift) 
Trevi 

‘4. , 2016 

*ft 
:antift Ofir4r 

frnei : 2 WI? 	 311 	7 : 50 

31R Of4V / RR* 	at'W dffet)  w4 

7  7 

 

/ Nee 4-  31V 1114(1,-4 312f g / 317w 3l*71,71 
	ej g Rfir tw(141 gqk fiehd strew 
Reglich .  * 	7M-1777g 

1. f*--4i qfw %TA * tNR : 	 5x4=20 

() l  c H *I* 4i1 i 31•31 100 MeV t I dtichf 
.471.  NikehiCiaW.A.R .arit dkichl 	500-11111 

0.5 
MeV t I 

2 

(11) 50e1111.1 92 g ciic l 	 72 ms-1- 	A 
Trftgrrq 	-Tg 	t 	-ffiTrtai tachiCii 

*VA -4;Irr 	* .utrr aTftr-ektrilw %TR 

trr14 ? 
(Tr) 	 r allwd 41 ,4-14)10 wriTrt 

10-8  s 	1 	irig34 m z-64* .1,41i 4 
attfitaa -r*r TWAT *If* 
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(14) (i) Z = 20 3 	(ii) Z = 31 aics 	1i 3i * 

4rlcr 	iiict) 	relg7 

( . 7) aT-4- 	TT iWt .917.4 2 L (— L A L)t, A 

-Prff Pq+-114 m 	W7r 'WE sT eq : 

37tx 
y(x) = A cos— 

37cx 
 B sin 
 TE • 2 L 

A* B* 	co-i4ich TfT171.  41f77 I 

(-') 3rmIcl 	2 m girl) z■ 	* TAW 1I 1H 

4-1 zk:Wt 	*-4F 1 m Tait q-r41—t 

Tri'd-mq - 1— -.410Ttrit? 

(-0) *11440117.i 3 	* ir,l 04.14) srrq-  4)-NR 

2. ftlft 	1-1PT 	grit: 

() 3TT414#4 	11H * .41,31 ,4) 	j-ecr%-  

*I.N7 -rquqR   sto) * -krk-RT 	tR, 

31T41.4414 	tikrkiff 	t I 

(u) 	f4 v « 	oik-<\A 

koiimui A viutta- t 	 5 
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() 	th-FR. 	uirtiebdimch (141WPT) o1Ttg1T 

Gicw; I R-ffis #ift tictatt, 	Triteffru tr-4R warr 

#4tt  	9-6urr Trrq 
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(V) ei 	rq 	tq-Wzte.11.  tichItch A AT B 31.0 

W:0-6 [A, B] gole, std *11=417 

-% [A, Bn] = n BnA  [A, B], 	n 	It* 

t 13.7: [ex, px] "Mq *1' ITurit *4 I 	10 

4. 14)41 krw ITFT Z-"K tN7 : 

-w7r -*t .PTro 	v(x) -PHICIRsi 	: 

0, 	x < — a 

V(x) = V0 	-a < x < a 

0, 	x > a 

* 	seg-aR tii-114)kui C 	Itrit4tra 

3r1W-om fof4R 3T Trift 411 4-11 * 	oe114ch 

srrIRT*C-4R 
	

10 

(V) vs f 	C11RI tus 	 

W( He 'Ti 	1:4-01 trql atrut-a arogrT *1-  

I 
	

10 
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5. A l ITT 	 : 

() ti IReOfa TKO *'t 334-ang 1 trftiTrErr 

tf-A7 I Zsii 	-0* 60% RR 414 

1~ fir wit] 	? '414 *I 344-al-rg 

3.8 fk4 t I 
	

5 

(w) ljuli ctact) *1 	tr-A I   Illfft 

aTlia-en—wr Trgrzr ITNT Sur eem  mta 

fUR ediAcb3rrqr trf* I 	 5 

Oft Pelffleh 

h = 6-626 x 10-34  Js 

me  = 9109 x 10-31  kg 

mp  = 1.672 x 10-27  kg 
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